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Part One: Reading comprehension

Directions: Read the following passages carefully. Each passage is followed by some questions.
Complete the questions with the most suitable words or phrases (a, b, ¢ & d) below each one. Base your

answers on the information given only.

Passage 1

121

122

123 .

124

Alternative medicine is, by definition, an alternative to something else: modern, Western

medicine. But the term ‘alternative’ can be misleading, even off-putting for some
people. Few practitioners of homeopathy, acupuncture, herbalist and the like regard
their therapies as complete substitutes for modern medicine, Rather, they consider their
disciplines as supplementary to orthodox medicine. The problem is that many doctors
refuse even to recognize ‘natural’ or alternative medicine. This requires a radically
different view of health, illness and cure. But whatever doctors may think, the demand
for alternative form of imedical therapy is stronger than ever before, as the limitations
of modern medical science become mare widely understood.

Alternative therapies are often dismissed by orthodox medicine because they are
sometimes administered by-peopie-with:-no-formal:medical training. But, in comparison
with many traditional therapies, Western medicine as we know it today is a very recent
phenomenon. Until only 150 years ago, herbal medicine and simple inorganic
compounds were the most effective treatments available. Despite the medical
establishment's intglerant attitude, alternative therapies are being accepted by more and
more doctors,anditheWerld Health Organization hasagreed to promote the integration
of proven, valuable, "alternative’ knowfedge and skills in Western medicine.

. According to the passage,’conventional doctors-reject'alternative therapy since ............
a. patients have not been satisfied with it
b. its practitioners are sometimes not academically qualified
c. itis rather off-putting and sometimes misleading
d. it has failed to be beneficial

. According to the text, the term "alternative' is ........... .
a. increasingly established
b. rather ambiguous
c. appropriately defined
d. quite comprehensive

Few practitioners of alternative medicine think their therapies should ........... .
a. be substituted for modern medicine
b. be a complement to modern medicine
c. be repeated by the medical establishments
d. be refused by modern health care systems

. Western medicine ........... :
a. has approved many traditional therapy practices
b. is comparatively a recent occurrence
c. has its practitioners change their attitudes
d. was derived from alternative medicine

\¥
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125. The World Health Organization ............
a. Is biased against alternative medicine
b. hasan intolerant attitude towards alternative medicine
c. isgoing to train more alternative therapists
d. approves of valid alternative medicine practices
Passage 2
The social determinants of health are the economic and social conditions — and their
distribution among the population — that influence individual and group differences in
health status. They are risk factors found in one’s living and working conditions (such as
the distribution of income, wealth, influence, and power), rather than individual factors
(such as behavioral risk factors or genetics) that influence the risk for a disease, or
vulnerability to disease or injury. According to some viewpoints, these distributions of
social determinants are shaped by public_policies that reflect the influence of prevailing
political ideologies of those governing a jurisdiction. The World Health Organization
says that ""This unequal distribution of health damaging experiences is not in any sense a
‘natural’ phenomenon But is the result of a toxic combination of poor social policies,
unfair economic arrangements [where the already well-off and healthy become even
richer and the poor wha are already more likely to be ill become even poorer], and bad
politics."
126 . Itis understood that social conditions affect......... :
a. health status
b. people distribution
C. economic status
d. individual factors
127 . It is believed that ......... are more influential than_individual factors in increasing one's
susceptibility to diseases:.
a. hereditary factors
b. disparities in wealth distribution
C. genetic abnormalities
d. equitable sharing of wealth
128 . Some scholars hold that one can judge the ......... from the distribution of income, wealth and
health among the members of a society.
a. public police of the society
b. prevailing individual factors
c. governing body of the society
d. behavioral risk factors
129 . The World Health Organization warns against the ......... .
a. toxicity threatening the poor
b. individual experiences of the poor
c. health status of the poor
d. rich becoming more well-to-do
130 . WHO considers ......... as a threat to the health of the society.

a. poisonous substances

b. the sense of natural phenomena
C. poor economic arrangements

d. fair social policies

\v
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Passage 3

131.

132.

133.

134 .

135.

Previous studies on asthma suggested that antibiotics interfere with infants' beneficial
gut bacteria, which cause a child to have an undeveloped immune system and become
more susceptible to asthma. A new study has however shown that other factors increase
asthma risk for children. The researchers looked at participants’ medical records to
determine their use of antibiotics and episodes of attacks of asthma. The researchers
collected blood samples from 11-year-old children who had received at least one course
of antibiotics or no antibiotics in their first year of life. In the first part of the study, the
team found that infants who had wheezing and were treated with antibiotics before their
first birthday were more than twice as likely to develop asthma attacks or severe
wheezing, and had lower introduction of cytokines (immune cells that help fight
infection), compared with children who were not treated with antibiotics before the age
of 1. However, the researchers note that they found no association between early
antibiotics prescription .andsincieased, risk.of allergic reactions. In the second part,
however, the team discovered two genes in the chromosame 17 region- known as 17921
— that were linked to increased risk of antibiotic prescription in early life. Researchers
speculate that hidden factors which increase the 'likelihood of both antibiotic
prescription in early life and subsequent asthma are an'increased susceptibility to viral
infections due to impaired antiviral immunity and geneti€ variants on 17g21.

The researchers of the new study indicate that asthma Susceptibility is most probably increased

antibiotics prescribed before the first birthday
insufficiency of cytokines in the blood
early—stage allergic reactions

acquired immunity

O
coow =

Previously, it was believed that the main cause of episodes of asthma attacks was ........... :
a. gut bacteria
b. interference of antibiotics
c. prenatal susceptibility to asthma
d. congenitally undeveloped immune system

We can conclude from the first part of the new study that ........... .
a. first-year antibiotic prescription causes a genetic variation
b. there is a link between early-life antibiotics use and subsequent asthma
c. first-year antibiotic prescription is hardly related to cytokines in the blood
d. there is a link between early-life antibiotics use and allergic reactions

Results of the second part of the study suggested a tie between genetic variants on 17921 and the

frequency of episodes of asthma attacks and wheezing during infancy

a

b. underdevelopment of the immune system caused by lack of gut bacteria
C

d. allergic reactions not associated with antibiotic prescription in childhood

It is implied from the findings of the study that the best strategy in dealing with children who
have taken antibiotics in their first year of life would be to ..............

a. enhance antibiotic prescription

b. test them for allergic reactions

c. have them genetically tested

d. examine them for viral infections

A
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Passage 4

A new study found that Americans who eat a diet low in potassium were about twice as
likely to die from a heart attack, compared with those whose diets have high levels of the
mineral. The study doesn't prove cause—and-effect, but it does suggest a role of
potassium in health.

The same study also found that people who were deficient in potassium were about 50
percent more likely to die from any cause during the length of the study.

Now, how do we get enough potassium? Sodium and potassium perform many of the
same functions in the body, but they do so in very different ways. It's important to
maintain a balance between sodium and potassium in the diet, because sodium intake
can affect potassium excretion, and vice versa. People who reduce their sodium
consumption and increase their potassium intake benefit from improved blood pressure,
and reduce their risk for.developing.cther.serious health.problems.

Bananas have a reputation for their potassium content; yet, sweet potatoes actually have
more potassium, with a whopping 694 milligrams per serving.

136 . Having read the passage, we understand that a diet high'in potassium ........... :
a. causes heart attack
b. might be healthier
c. islow in other minerals
d. prevents myocardial infarction

137 . We may infer that some Americans aren’t getting enough ........... .
a. toeat b. sodium C.. minerals d. potassium

138 . When the body has a high sodium intake, its potassium intake might be ............
a. low b- higher C-Hnproved d. maintained

139 . What the text recommends to be consumed more s ...........

a. salt b. bananas c. acertain vegetable d. fresh processed foods

140 . The writer suggests we should more often .......... :
a. eatout
b. have take-away
c. eat home-made food
d. enjoy restaurant meals

Part Two: vocabulary

Directions: Complete the following sentences by choosing the best answer.

141 . The girl had received horrific injuries in the attack, the most important of which being

both arms.
a. adhesions to b. remission of c. lacerations to d. resistance of
142 . The patient's pain could not be completely ........... though it was temporarily relieved.
a. suppressed b. sustained c. provoked d. augmented

4
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143 .

144 .

145.

146 .

147 .

148 .

149 .

150.

151.

152 .

153.

154 .

155.

156 .

She just made a/an ........... recovery; that's why she was never able to walk properly after the
accident.

a. definite b. permanent C. speedy d. partial
The nurse-patient relationship is based on the ........... that both are responsible in the process of
health care.

a. premise b. submission C. curiosity d. segregation

The doctor said very little directly, but a great deal by ............

a. Intervention b. exploration Cc. variation d. implication
The best strategies to ........... sun-damaged skin are to avoid direct sunlight and use special
skin-care products.

a. impair b. revitalize c. degenerate d. wreck
The cancer patient's family always asked him notto ............ . They expected him to have a
fighting spirit all the way along.

a. abide b. persevere c. resist d. surrender
The committee's ........... goals of starting new projects and cutting costs at the same time meant
that they would accomplish very little.

a. homogeneous b. incompatible c. harmonious d. desirable
Back pain is one of the least ........... medical conditions because the back affects so much of the
body’s movement and positioning.

a. contractible b. considerable c. tangible d. tolerable
There are several’home .........c you can, use to help the rash‘on:.the skin fade.

a. surgeries b.\.insSpectors C. devices d. remedies

Knowledge of/the common food allergens and symptoms| of atlergies is very essential because
they are very common and sometimes can be life ............

a. saving b. supporting c. threatening d. assuring
A torn ligament in the foot is an extremely painful injury that leaves you ........... disabled for
several weeks.

a. temporarily b. longitudinally c. permanently d. chronically
Doctors ........... that patients should increase their intake of fluids in order to help prevent
kidney stones.

a. recreate b. recommend C. recover d. reconvene
One of the crucial problems of this century isthe ........... made by factories.

a. contribution b. interaction c. attention d. pollution
Nowadays, infant ........... has reduced, thanks to the development made in different branches of
medicine.

a. survival b. sanitation c. mortality d. vitality
A few basic categories of molecules, formed from a handful of different elements, ........... all the
extraordinary richness of form and behavior in living things.

a. giveriseto b. make up for c. getrid of d. get away with
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157.

158 .

159.

160 .

When a child presents with atypical or multiple injuries, the possibility of child ........... must be
of prime consideration.
a. trace
b. cruelty
c. abuse
d. legality
Approximately 3% of live born infants have a major congenital ........... .
a. delivery
b. colony
c. delinquency
d. anomaly

Despite the fact that hypertension is significantly related to coronary artery disease in

individuals, population comparisons have not revealed the same ........... of association.
a. presence
b. assertion
c. incidence
d. strength
When a patient's communication IS ........... and not subject to reporting laws, a physician

should not disclose it.
a. referential
b. controversial
c. essential
d. confidential

A
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